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vertex edge    weight
A                   A-H             34

B                   A-B             35

C

D

E

F                 A-F              36

G                H-G              25

H

complete the rest of the table

H-C              19

decrease key operation
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This is s hard problem. No polynomial time solution 
known

Lets assume this is a connected graph. If we do BFS and build the shortest path tree 
E + V) time, we can find a leaf node in the tree that can be removed w/o disconnectin
the entire graph

Start with any vertex v. Build the shortest path graph from v to every other node. For all other vertices
x, if the edge (x,v) exists, then calculate the cycle length using shortest path length + 1. find the 
minimum such thing. We will have to do this for all vertices. So the order of growth is EV

MST of the graph connects all vertices. Now find a path from v to w in the MS
in time V. If all edges in the path > c, then MST of G is the same as MST of G
If not, you can remove an edge > c from the path and replace the edge with th
new edge. In this case they are not the same.

Apply the Kosaraju Algorithm to see if there is
one SCC. Then the answer is yes.

Look for one connected component. The 
answer is yes. 

Determine if the graph is acyclic - E+V. Then 
find a vertex with zero outdegree

determine the shortest path tree using BFS 
staring with any vertex

Kruskal's uses extra memory (PQ of edges) than 
Prim's. I prefer prims


